IE547 Arex_exit_test 4 sea_amendment

1x Message R
Message sender an..35 R EDI identification
Message recipient an..35 R 003702454428
Date and time of preparation anlé R time of message sending
Test indicator nl D 1, identifying test situation
Message identification an..14 R AREXI1406709
Message type an..6 R FI547A
1x Header [summary declaration] R
Total number of packages n.7 R 200
Manifest reference number an..22 R Test 4 sea
Date and time of presentation anl6 D give current date
Dialog language indicator at destination a2 D use if language is wished to be
else than Finnish
Conveyance reference number an..35 D 0/875002
Identity of means of transport
crossing border an..27 D 01010133
Customs reference number anl7 D Give the customs reference
number received to IE547 test 4
1 x (Actual exit) Customs office R
Reference number an8 R F1009801
1 x (Exit carrier) trader R
Name an..35 0] Kaéteishuolintatesti Oy
TIN an..17 R FI7283476-8
TIN extension an5 D T0001
99999 x Customs data reference
[summary declaration] R
Reference number MRN anl8 R Arex (IE315) MRN (will be
provided by tester)
999 x Goods item D

Item number n..5 R 1



99999 x Customs data reference

[summary declaration] R
Reference number MRN anl8 R Elex MRN (will be provided by
tester)
Other Export Reference an..35 D not used in this example
Final or partial shipment flag nl D 1
Number of packages n..5 D 50
Number of pieces n..5 D not used in this example
Gross mass n.113 D 200
999 x Goods item D
Item number n.5 R not used in this example
1 x (Representative) trader D
Name an..35 R not used in this example
Name continuation an..35 0] not used in this example
Street and number an..35 R not used in this example
Postal Code an..9 R not used in this example
City an..35 R not used in this example
Country a2 R not used in this example
TIN an..17 R not used in this example
TIN extension an5 D not used in this example
1 x Contact information R
Contact person name an..35 R Name
Contact person telephone an..35 R 050-555555
Contact person e-mail an..100 @] not used in this example



